BRETHhREFTEHIS (FRHE) fk THTE 8 78 (X)

ESed

o B &t E th = (& ==l ] =7 & =

m H = b3

() A=) (M) (M) (M) (kg)

LA 24.2 JtiEE 24.1 1,620 864 864 10[ Mva LL
WA ERE 972 — 864 1 A M
IZALA 15.7 f = 0.5 - 1,404 B 10 L
IZALCA 5 & 0.2 1,080 972 432 10
ES) 11.5 BERE 5.2 2,592 2,538 2,484 10 L
ZIx5 h = 0.1 - 1,620 - 10 L
(<& 24.4 £ B 24.2 1,836 1,404 1,296 150 A L
HT R 1.9 BRE 0.9 1,944 1,512 864 4] A M
CEDH 9.0 ERE 5.0 1,620 1,566 1,296 A M
FrRy 88.1 i 79.3 1,415 1,080 972 10] Y19 8
FrRY 12 864 648 324 2l A L
F5NAZS 1.4 = IF 0.2 238 - 216 02 A L
hE 6.4 X 5 3.9 918 - 864 3] vay LL
_h¥E 1.7 12 [ 0.8 4212 2,916 2,268 3] A S
125 25 ElE 1.1 4,050 3,240 3,024 5] A M
+)L)— 1.3 £ % 1.3 4,860 - 3,240 10 A LL
T ARINSHR 2.0 EEES 1.4 - 97 B 0.1 vay M
LA2R 39.5 E % 38.8 2,592 2,144 1,620 10 A 16
LA [ITRET] 0.4 2,700 - 2,160 4 A L
FoaroHA 1.5 BERE 0.9 1,944 1,944 1,728 4] A L
=pol) 27.7 BERE 1.4 — 270 - 1 A
=pol G 12.3 1,944 1,728 1,296 5] B M
MEE® 11.3 FEES 1.5 - 2,646 - 10 vay 6
Y 11.9 BRE 3.0 — 135 — 03[ A L
s B I 5.0 2,376 2,160 2,160 5] A L
k< k 38.8 X 9 17.2 1,296 1,080 864 4 B 16
k< k EEES 15.5 2,376 1,620 1,512 4 vy L
I=kYE 8.9 EEES 4.0 216 194 173 02| iy M
S—k<hk NI 3.1 2,592 2,160 2,160 3l A M
E—<> 6.2 EEES 2.1 - 1,728 B 45 vay LL
E—<> X & 1.9 108 108 98 0.15] A M
E5EA2L 43 X 5 1.2 — 2,916 B 10 a9 L
V. 2.7 BRE 2.7 73 — 54 0.1 A M
IZH5Y 8.2 ERE 8.2 1,426 864 648 3 A L
SPVAITA 0.1 = 0.1 4,860 — 4,320 2 A L
hAL& 8.3 BERE 5.1 1,404 1,296 1,188 5 1Hh
IEhiL& 20.8 5 & 4.4 - 2,160 B 10 A L
=LV 1.0 BRE 0.7 7,020 5,400 4,320 5
&LV BRE 7,020 — 2,700 10 A
AL 6.3 5 & 6.0 5,076 4320 4,320 10 ¢ LL
—FRE 67.7 JtiEE 29.2 3,240 — 3,024 20 L4 (
—FhE B8 23.2 3,240 3,240 1,080 20 L
f-EhE & B 1,620 — 1,566 10] Y19y L
121X h 0.9 5,400 4,428 4,428 10 4L
ELLV=F 8 BERE 0.2 — 108 - 0.1 L
LU= = I 0.9 86 — 76 0.1 A M
ZDEET 3.8 = G 1.0 59 30 29 0.1 A
LoHL 2.4 12 [ 2.3 97 65 59 0.2
TERILE 483.5
BE

o & B & E i = & f & =7 & = B

m H = O

) ATTE®) (M) (M) (M) (kg)

SRINAMAET 14.1
INGRH DA 14.1 ERE 3.1 4,320 3,240 2,700 5] A L
INDRH A BERE 5,940 3,780 3,780 5/ A M
INGRH A ERE 5,940 4,644 3,780 5] A S
INGRH A & 11.0 2,376 - 1,944 5 L
INDRHBDVA = B 3,780 2,700 2,376 5 M
INDRHBDVA = =B 3,780 2,376 2,376 5 S
LEY 2.7 F Y 0.6 7,020 - 6,480 17 165
INLUTT 4.9 El 4.9 7,020 5,724 3,888 17 88
JLT1LY 1.6 m7 7Y 1.6 4,860 - 4,320 15
YACE 4.4
DEP IS 3.4 5 & 3.4 7,344 — 7,128 10| 724
AL 0.3 5 & 0.3 - 8,100 - 10[ Mty 32
HARZLET 17.2
=K 1.4
2K 11.7 EEES 5.8 — 7,560 — 10| 7h%a 4L
—+iE 4.0 B 4.0 7,020 - 6,480 10] 7hva1 32
ZRhEL 0.1 EEES 0.1 — 6,480 - 10 24
3EEt 5.1
3% 4.7 E % 3.1 5,400 5,400 3,456 5] vay 18
RO 0.4 E % 0.4 378 — 346 0.5] 7hva 3L
AESE 13.0
TIJIT 0.1 = % - - - PR LL
TIJIT =l - 2,419 - 1.6] B L
TIJIF G - - - PR M
Eig 6.6 = 5.8 — 2,160 — 1.4 B 3L
EA—=x 1.7 2 [ 1.2 1,944 - 1,426 14| B LL
NIJ—A 1.0 2 @ 1.0 — 1,836 — A LL
AOVE 12.6
7—JLR 6.2 BE X 5.3 — 2,160 — 4| 7hva 3L
FRAO 6.4 ERE 0.6 — 1,296 — 12 D 5L
I LIVEE 37.2
F LA 35.2 ERE 29.1 648 — 432 6l A M
ELRYA £ % 1.1 - 6,458 - 18] A 4L
ZIEETLI, 2.0 BERE 1.7 3,456 2,916 2,916 10] A LL
NFF 18.4 EJEY 18.4 3,456 2,808 2,700 13
IMFyTIL 5.3 EJVEY 5.0 3,672 3,132 3,132 10 8
XAy 2.1 —ov 2.1 - 4,212 - 5.8 30
REHRET 139.7




